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Rd = R1+R2+R3
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Ra = (R1"R3)/Rd

Rg = (Ry"R3) / Rd

Re = (R1"Ry) / Rd
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Rq = Rg*Rc*Gy
R, = Ra*Rc*Gy

R3 = RA"RB'GY
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R{,q =R, +(R, +RA)*(R3+RB)f(R,+R3+RA+RB)=1,66+5+ ‘ 2 =40

{ TINA Interpreter }
Gy:=1/R1+1/R1+1/R2;
Gy=[833.33m];
R11:=R1*R1*Gy;
R12:=R1*R2*Gy;
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Rt:=Replus(R11, (Replus(R12, R3)+Replus(R12, R4)));

Rt=[4.00];
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{ TINA Interpreter }
Gy:=1/R1+1/R2+1/R3;
Gy=[95m];
Ra:=R1*R2*Gy;
Rb:=R1*R3*Gy;
Rc:=R2*R3*Gy;

Rt:=Replus(Replus(R6, Rb), (Replus(R4, Ra) + Replus(R5,Rc)));
Ra=[76];

Rb=[95];

Rc=[190];

Rt=[35];
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; R1+R23.0

{ TINA Interpreter }
Rd:=R1+R2+R5;
Rd=[8]
Rc:=R1*R5/Rd;
Rb:=R1*R2/Rd;
Ra:=R2*R5/Rd;

RAT:=R1+R3+Ra;

RCT:=R2+Rc;

Gy:=1/RAT+1/Rb+1/RCT;

Rd2:=RB*RAT*Gy;

Rd3:=Rb*RCT*Gy;

Rd1:=RCT*RAT*Gy;

Rt:=Replus(Rd2, Replus(R4, Rd3) + Replus(Rd1, (R1+R2)));
Rt=[2.5967]



